Efficiency vs dr

0.5
0.45

effl(:lency vs AR
o
S

0.3

TIT T T[T T[T T T[T T T [ TT T[T ITT[ITTT

0.15fF -+~
8 T
= —— DQM-CREREEest 1000evt
I D M:mkFﬁRE | evt
o —— BRV-NANTES F IOOOevt
1 - L—=—D
0.95! |I | i"l"" EI I| II|!||

107 1072 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.05
00.045]
=
x0.04
<
£.035
4
20.03
c
$9.025
&
©0.02
0.015
0.01
0.005

1.0

Ratio

107t
AR(TP, jet)

L 3
------------------------------------------------
------------------------------------------------
R PR, R :
£
....... -
Ul A
o QF Lo
= o - ] 3
3] E | ] :
O 1.05F----r---- - |
1-— ---------- Y qb-éi- pe.y 9

093630 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


